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There are 8 faces and 12 edges of an octahedron. How many vertices has it

g%igm%swaﬁﬂzmﬁﬁ%%l sq& fhaq 2 82
A. 4 B.5 C.6 D.7
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The base of a right prism is a triangle of perimeter 45 cm. The radius of the in-
circle of the base is 9 cm. If the volume of the prism is 810 cm?; find the area of
the its total surface. .
Wﬁmmaﬂwu@ﬁvmmwﬁw% | STYR & 3id: g DI
9 cm © | Tfe fUSH &7 3maa+ 810 cm3 &1 df 9P TV Y§ HT &AHd J1d
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A. 100 cm? B. 200 cm? C. 180 cm? D. 270 cm?
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The helgh’r of a right prism is 15 cm having base a square. If it's total surface

areais 608 cm square. Find its volume.
?@% ﬁﬁr%ﬁmmanwwaﬁ%luﬁmﬂqﬁqgm
gtm 608 gl I ST I JTd DI |

A. 900 cm? B. 950 cm? C. 960 cm? D. 970 cm?
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Find the volume of a 10 cm high right prism having base a regular hexagon.

The total, surface area of the prism is 156+/3 cm square.
O &1 SITaa+ 1 DIl [OIST STYR Th JH e-

Hﬁ%lﬁw%ﬂqﬁwmmwsfﬁﬁtﬁ%l
A. 540v/3 cm? B.180vV3 cm® C.90V3 cm? D. 270v/3 cm?
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Find the volume of a pyramid having slant height of 5 cm whose base is a

square of side 6 cm.
TP 5 I {ode a1 ara fURTfirs &1 Smaas 91d Siford foraeeT SmemR 6 Qe Yo
PITH TG |

A. 96 cm? B. 48 cm? C. 144 cm? D. 24 cm?
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The base of a pyramld is an equilateral triangle of side 4 cm. The slant height
oft he pyramid is 2 hmes of the height. Find the volum§ of the pyramld

BT ATYR 4 JHT YoIT aTdT Udh Wl'g' Eillé
G‘ﬂﬂﬁﬁﬁ‘ﬁzr—ﬂ% | ﬁwﬁgmmm

83 443 7
A. 33 cm3 B.— cm3 C.-cm?3 D. — cm3
9 9 3 \/§
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The base of a pyramid is an equilateral triangle of side 4 cm. The numerical
value of total surface area (in cm?) of the pyramid is 3 times of the numerical
value of its volume (in cm?). Find the height of ihe pyramid.

forifers & wxuf Ug &

gﬁ ﬂg%%%% (cm? ?% JCITHSD A

@1 HATg AT |
6cm B.8 cm C.4cm D. 10 cm
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The base of a pyramid is a 18 x 10 cm rectangle. If the height of the pyramid
is 12 cm, find the total surface area of the pyramid.

gﬁ%&gﬁﬁ?&sx 10@%@@@@3 | gfe fRTfirs Y Sare 12

A.596 cm? B. 580 cm? C. 564 cm? D. 524 cm?
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Find the volume of a pyramid having base a regular hexagon of side 4v/3 cm
and a slant height of 10 cm.

ggﬁ%ﬁwaﬂﬁﬁmﬁwm4ﬁﬁwmww-w%

A.196cm® B.192cm® C.193cm® D. 194 cm?
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Find the volume of a regular tetrahedron with edge length of g cm.
wgn-mmgmmﬁﬁﬁsmﬁﬁaﬁa@ﬁa '%l
3 3 3 a 3

d d d
A.m cm B.ﬁcm C.mcm D.ﬁcm
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Find the volume of a regular tetrahedron with edge length of 6v/2 cm.

TP GH-IqUP AP BT T JTd DIl foTad Hid $1 TS 642 I 7
A.78cm® B.75cm® C.72cm?® D.24 cm3
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Find the volume of a regular tetrahedron having a height of 2v/3 cm.

TP GH-IqUp AP BT M- J1d DIl foraet Harg 2v/3 99 g1
A.25cm® B.22cm® C.16cm® D.18 cm?
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h is the height of a regular tetrahedron and length of each edge is 2a. Find the

value of 3h?.
TP GH-IqSP AP DI SHATs h § 3R TGP B4 I Ga15 2a §1 3h? FTd DI |
A.5a% B.8a%* C.9a%? D. éa*?

e 181, e g1



 Hatendra's o1 e, AT B,
Sdol YT gidT,

ot Selection «hr @ SITaT... 1!
gfF=IT H BB ST AT A1 9411,
Uh 31T ST Sieoe g1 ... 111

For Your Practice { ool

3TYS 3T & fore




The base of a right prism is a triangle of side 20, 21, 29 cm. If the volume of the

prlsm is 7560 cubic cm; find its lateral total
BT STUR_5 AT, 12 AT

uﬁ e BT AT 450 T It g ar

A. 2448 cm? B. 2556 cm? C. 2484 cm?
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D. 2520 cm?
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The base of a right prism is a quadrilateral ABCD. The volume of the prism is
2070 cubic cm. If DA is perpendicularto ABand AB=9cm,BC=14cm, CD =

13 cm AD =12 cm flnd |’rs Icﬂeral urface a ea
ABCD 2. fUsH &7 3mad9 2070 99 AW & |

%‘%DA Aswmaﬁa‘r AB Nﬁtﬁ BC = 149}, CD = 13 9T, AD = 12

%mgvf US &1 &A% JTd DI |
A.720cm?* B.810cm? C.1260cm? D. 2070 cm?
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Find the volume of a 15 cm high pyramid having base a regular hexagon of
side 2v/3 cm.

15@Iﬂﬁ§$ﬁwﬁgmmwaﬁ%ﬁmﬁaﬂmzv—wﬂwmw
Y Ye-Yol
A. 803 cm? B. 903 cm? C. 91V3 cm? D. 100v/3 cm?3
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Find the total surch:e area of a 24 cm high pyramid having base a regular
hexagon of side — cm

wz4ﬁﬁﬁwﬁ3%ﬂqﬁqgmmmaﬂﬁﬁmaﬂw“@tﬁ

YTl AT T T Te-4W g |
A. 4343 cm? B.448V/3 cm® C. 4163 cm? D. 436+/3 cm?
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Find the volume of a 63 cm high prism having base a regular octagon of side
10 cm.

63 I S T TISH BT Tad JATd o FSrRABT SMYR 10 TH BT TP JH
ATYA T |
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Find the volume of a pyramid having base a regular hexagon of side 10 cm
cmd a slant height of 13 cm
DIford FTH®T MUR 10 TH BT TS I9 Te-Yol & 3R
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Find the volume of a pyramid having slant height of 5 cm; and the base an

vilateral triangle of side 6/3.
5%111 m%aﬁwﬁwﬁgmamqmaﬂﬁﬁmmmmsfﬁtﬁ
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